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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a00



= 187.13 Hzf = 157.38 Hzf = 132.36 Hzf = 111.33 Hzf = 93.63 Hzf

= 78.74 Hzf = 66.23 Hzf = 55.68 Hzf = 46.84 Hzf = 39.40 Hzf

= 33.15 Hzf = 27.86 Hzf = 23.44 Hzf = 19.72 Hzf = 16.57 Hzf

= 13.95 Hzf = 11.72 Hzf = 9.86 Hzf = 8.31 Hzf = 6.99 Hzf

= 5.89 Hzf = 4.94 Hzf = 4.15 Hzf = 3.48 Hzf = 2.93 Hzf

= 2.47 Hzf = 2.08 Hzf = 1.74 Hzf = 1.46 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a00
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a01



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf =0.0078 Hzf

=0.0055 Hzf =0.0039 Hzf =0.0028 Hzf =0.0020 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a01
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a02-av-ri



= 256.00 Hzf = 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf

= 45.25 Hzf = 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf

= 8.00 Hzf = 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf

= 1.41 Hzf = 1.00 Hzf =0.7071 Hzf =0.5000 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a02-av-ri
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a03



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a03
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10-2 10-1 100 101 102

Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a04-av



= 215.27 Hzf = 152.22 Hzf = 107.63 Hzf = 76.11 Hzf = 53.82 Hzf

= 38.05 Hzf = 26.91 Hzf = 19.03 Hzf = 13.45 Hzf = 9.51 Hzf

= 6.73 Hzf = 4.76 Hzf = 3.36 Hzf = 2.38 Hzf = 1.68 Hzf

= 1.19 Hzf =0.8409 Hzf =0.5946 Hzf =0.4204 Hzf =0.2973 Hzf

=0.2102 Hzf =0.1487 Hzf =0.1051 Hzf =0.0743 Hzf =0.0526 Hzf

=0.0372 Hzf =0.0263 Hzf =0.0186 Hzf =0.0131 Hzf =0.0093 Hzf

=0.0066 Hzf =0.0046 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a04-av
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a05-av-ri



= 256.00 Hzf = 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf

= 107.63 Hzf = 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf

= 45.25 Hzf = 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf

= 19.03 Hzf = 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf

= 8.00 Hzf = 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf

= 3.36 Hzf = 2.83 Hzf = 2.38 Hzf = 2.00 Hzf = 1.68 Hzf

= 1.41 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a05-av-ri
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a06-av-ri



= 256.00 Hzf = 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf

= 107.63 Hzf = 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf

= 45.25 Hzf = 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf

= 19.03 Hzf = 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf

= 8.00 Hzf = 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf

= 3.36 Hzf = 2.83 Hzf = 2.38 Hzf = 2.00 Hzf = 1.68 Hzf

= 1.41 Hzf = 1.19 Hzf = 1.00 Hzf =0.8409 Hzf =0.7071 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a06-av-ri
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a07-av06



= 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf = 107.63 Hzf

= 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf = 45.25 Hzf

= 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf = 19.03 Hzf

= 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf = 8.00 Hzf

= 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf = 3.36 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a07-av06
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a08-av



= 256.00 Hzf = 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf

= 107.63 Hzf = 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf

= 45.25 Hzf = 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf

= 19.03 Hzf = 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf

= 8.00 Hzf = 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf

= 3.36 Hzf = 2.83 Hzf = 2.38 Hzf = 2.00 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a08-av
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding a09-av-ri



= 256.00 Hzf = 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf

= 107.63 Hzf = 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf

= 45.25 Hzf = 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf

= 19.03 Hzf = 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf

= 8.00 Hzf = 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf

= 3.36 Hzf = 2.83 Hzf = 2.38 Hzf = 2.00 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding a09-av-ri
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c00-av-ri



= 256.00 Hzf = 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf

= 45.25 Hzf = 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf

= 8.00 Hzf = 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf

= 1.41 Hzf = 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c00-av-ri
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10-2 10-1

Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c01



= 187.27 Hzf = 157.48 Hzf = 132.45 Hzf = 111.38 Hzf = 93.72 Hzf

= 78.80 Hzf = 66.31 Hzf = 55.71 Hzf = 46.88 Hzf = 39.43 Hzf

= 33.15 Hzf = 27.89 Hzf = 23.44 Hzf = 19.72 Hzf = 16.60 Hzf

= 13.98 Hzf = 11.78 Hzf = 9.89 Hzf = 8.31 Hzf = 6.96 Hzf

= 5.86 Hzf = 4.94 Hzf = 4.15 Hzf = 3.48 Hzf = 2.93 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c01
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c02-av



= 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf = 107.63 Hzf

= 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf = 45.25 Hzf

= 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf = 19.03 Hzf

= 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf = 8.00 Hzf

= 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf = 3.36 Hzf

= 2.83 Hzf = 2.38 Hzf = 2.00 Hzf = 1.68 Hzf = 1.41 Hzf

= 1.19 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c02-av
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c03-av-ri



= 256.00 Hzf = 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf

= 45.25 Hzf = 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf

= 8.00 Hzf = 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf

= 1.41 Hzf = 1.00 Hzf =0.7071 Hzf =0.5000 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c03-av-ri
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c04-av



= 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf = 107.63 Hzf

= 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf = 45.25 Hzf

= 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf = 19.03 Hzf

= 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf = 8.00 Hzf

= 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf = 3.36 Hzf

= 2.83 Hzf = 2.38 Hzf = 2.00 Hzf = 1.68 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c04-av
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c05-av



= 215.27 Hzf = 152.22 Hzf = 107.63 Hzf = 76.11 Hzf = 53.82 Hzf

= 38.05 Hzf = 26.91 Hzf = 19.03 Hzf = 13.45 Hzf = 9.51 Hzf

= 6.73 Hzf = 4.76 Hzf = 3.36 Hzf = 2.38 Hzf = 1.68 Hzf

= 1.19 Hzf =0.8409 Hzf =0.5946 Hzf =0.4204 Hzf =0.2973 Hzf

=0.2102 Hzf =0.1487 Hzf =0.1051 Hzf =0.0743 Hzf =0.0526 Hzf

=0.0372 Hzf =0.0263 Hzf =0.0186 Hzf =0.0131 Hzf =0.0093 Hzf

=0.0066 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c05-av
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c06-avs



= 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf = 107.63 Hzf

= 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf = 45.25 Hzf

= 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf = 19.03 Hzf

= 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf = 8.00 Hzf

= 6.73 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c06-avs
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c08-av



= 215.27 Hzf = 181.02 Hzf = 152.22 Hzf = 128.00 Hzf = 107.63 Hzf

= 90.51 Hzf = 76.11 Hzf = 64.00 Hzf = 53.82 Hzf = 45.25 Hzf

= 38.05 Hzf = 32.00 Hzf = 26.91 Hzf = 22.63 Hzf = 19.03 Hzf

= 16.00 Hzf = 13.45 Hzf = 11.31 Hzf = 9.51 Hzf = 8.00 Hzf

= 6.73 Hzf = 5.66 Hzf = 4.76 Hzf = 4.00 Hzf = 3.36 Hzf

= 2.83 Hzf = 2.38 Hzf = 2.00 Hzf = 1.68 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c08-av
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10-2 10-1 100 101

Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding c09-255



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding c09-255
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Period (sec)

RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding d00-255



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding d00-255
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Z rotation Z strike

Z skew Z ellip.

Sounding d01-253



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf =0.0078 Hzf

=0.0055 Hzf =0.0039 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding d01-253
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Z rotation Z strike

Z skew Z ellip.

Sounding d02-254



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf =0.0066 Hzf

=0.0023 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding d02-254
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding d03-25



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf =0.0078 Hzf

=0.0055 Hzf =0.0039 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding d03-25
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PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding d04-254



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf =0.0078 Hzf

=0.0055 Hzf =0.0039 Hzf =0.0028 Hzf =0.0020 Hzf =0.0014 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding d04-254
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RhoXY RhoYX Smoothed (D +)

PhaseXY PhaseYX Smoothed (D +)

Z rotation Z strike

Z skew Z ellip.

Sounding d05-254



= 181.02 Hzf = 128.00 Hzf = 90.51 Hzf = 64.00 Hzf = 45.25 Hzf

= 32.00 Hzf = 22.63 Hzf = 16.00 Hzf = 11.31 Hzf = 8.00 Hzf

= 5.66 Hzf = 4.00 Hzf = 2.83 Hzf = 2.00 Hzf = 1.41 Hzf

= 1.00 Hzf =0.7071 Hzf =0.5000 Hzf =0.3536 Hzf =0.2500 Hzf

=0.1768 Hzf =0.1250 Hzf =0.0884 Hzf =0.0625 Hzf =0.0442 Hzf

=0.0313 Hzf =0.0221 Hzf =0.0156 Hzf =0.0110 Hzf =0.0078 Hzf

=0.0055 Hzf =0.0039 Hzf =0.0028 Hzf =0.0020 Hzf =0.0014 Hzf

= Zxy Impedance

= Zxx Impedance

= Impedance Strike

Sounding d05-254


